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27 31

H27
2 3
L 0o |12
A 3,208 685/ 2,625 551 2,081
47
740 2,749 354/ 1,456
15
3,830
0
0| 0
19
109 111 349
B 4570 0/ 2,858 465/ 1,806
C A 685 685 0
B+C- A 677 0 233 A 86/ A276

H31
2 3
1 12
2,982 637] 2,440 502] 1,961
54
740 3,045 407 1,625
15
3,830
3
7| 27
16
109 106 339
4570 0/ 3154 520/ 1,991
A 637 637 0
951 0 714 18 30
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27 31
(HplsHZ | H8 | Ha | He | H3
(A 6 6 6 6
2 2 2 2 2
4
(B 2 2 2 2 6
(B) A A4 a4 a4 0
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( 25) 7 28 H29 H30 H 3
(A 19 6374| 192, 31| 188, 36| 1 B,698| 183 P8O
8 8 8 8 7 7
6 6
2 2 2 2 2 2
1 1 1 1 1 1
(B 170,6 8| 17 p680| 170, 80| 170, 80| 1 @ 860| 194 860
(B A A2 5694 a21, 61 a17, 86| 9,162 11 780
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27 31
(Hpd HZ 28 H29 HB H3
(A 100671 98132( 9614 94, 73 93, B
16 18 18 18 2 1 2 1
174 | 186 | 18 186 22 8 228
2 2 2 2 2 2
67 67 67 67 67 67
434 | 400 | 40 400 40 0 400
(B 88,27 190 64D 90064 9008 10 948 100, @
( BY A1003)L a8 068 46,07 6 11p 7, 9
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27 31

Gos | 7 D8 P9 HO H3
2661 | 2 61| 2562| 2528 248
(A s73)| (86| (89| (85| ( 80)

( 100 )

( 100 )
. 266l ] 2 6L] 2562] 2528 2489
(B s73)| (86| (89| (855 ( 80)
( BA) 0 0 0 0 0
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